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1. Foreword 

Article 5.1 of the Regulation provides that for the purposes of the Regulation, GME shall adopt the 

units of measurement indicated in the Technical Rules. 

 

2.  Units of measurement  

 
In the PAR:  

a) the unit of measurement of the tradable as part of the procedures for the allocation of 

capacity during the thermal year, the allocation of residual capacity in thermal year(1) 

and the capacity no longer available in auction amount is the slot; 

b) the unit of measurement of the tradable amounts within the procedures for the 

allocation of annual and multi-annual capacity is: 

- the m3liq on the OLT segment; 

- the slot, on the GNL Italia segment. 

c) the unit of measurement of the currency is the Euro, specified with two decimal places; 

d) the unit of measurement for unit prices of the regasification capacity and ancillary costs 

is Euro/m3liq, specified with 6 (six) decimal places. 

 

                                                           
1 The residual capacity in thermal year consists, pursuant to art. 2, paragraph 2.2, letter f), of the Regulations: 

- of a unloading slot, for each month, starting from the month following the auction and until the end of the 

thermal year, or 

- of any unloading slots still available for allocation, each referred to individual months of the thermal year, even 

if not consecutive to each other. 

Ex: the regasification company wishes to provide 3 unloading slots for each month until the end of the thermal year (in 

the example, the residual product in thermal year consists of 8 months). If the participants indicates an amount equal to 

1 slot, this implies a purchase offer of 8 slots (namely 1 slot * for each of the 8 months), namely equal to 1 residual 

product in thermal year. If a participant indicates an amount equal to 2 slots, this implies a purchase offer of 16 slots 

(namely 2 slots * each of the 8 months), namely equal to 2 residual products in thermal year. 


